PR Received dated 10 Aug 2015-16 Aug 2015

Offices Supplies & Consumble Parts

Post Dated 10 Aug 2015

Serial PR No. e Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status RFQ Closing
Date site Dated
1 11506656 20-Aug-2015 CONZZ06769 BOLT&NUT HEX.HEAD M8-1.25x20 mm.#CLASS 8.8 60.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 31-Aug-15
2 11506469 17-Aug-2015 CONZZ06787 BOLT HEX.HEAD(CLASS 8.8) M12-1.75x50 mm. 50.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 31-Aug-15
3 11506470 17-Aug-2015 CONZZ08092 SOCKET HEAD CAP SCR;(\)A’; VEIVIHIIOCLIE'SXSO mm.#CLASS 8.8 30.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 31-Aug-15
4 11506656 20-Aug-2015 CONZZ08596 BOLT & NUT HEX.HEAD M5-0.8x15 mm. 50.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 31-Aug-15
5 11506659 20-Aug-2015 CONZZ09175 EXPANSION BOLT (ANCHORS) M20x200 mm.(ST25200) 50.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 31-Aug-15
6 11506474 17-Aug-2015 CONZZ18719 SOCKET HEAD CAP SCREW  M6-1x40 (MAT.STAINLESS) 80.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 31-Aug-15
7 11506657 20-Aug-2015 CONZZ19091 BOLT HEX.HEAD (CLASS 10.9) M30-2.0x160 FOR FOR 2.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 31-Aug-15
FANTUZZI NO.1-17
8 11506615 19-Aug-2015 CONZZ19172 BOLT HEX.HEAD (STAINLESS)M10-1.5x20 150.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 31-Aug-15
SOCKET HEAD CAP SCREW #12.9 M20-2.5x50 MM DRILL . .
_Aug- . . _ . “Aug-
9 11506472 17-Aug-2015 CONZZ19482 HEAD 3 MM FOR WORK ROLL SPINDLE FM 36.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 31-Aug-15
10 11506471 17-Aug-2015 CONZZ19483 SOCKET HEAD CAP Sﬁ};ivailnina M16-2x55mm DRILL 150.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 31-Aug-15
BOLT HEX.HEAD M20-2.5x90MM. THREAD LENGTH = 45 . .
11 11506475 | 17-Aug-2015 | CONZZ19484 MM (DRILL HEAD 3 MM.) CLASS #12.9 108.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 31-Aug-15
12 11506658 20-Aug-2015 CONZZ21628 EXPANSION BOLT M10x70 MM 75.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 31-Aug-15
SOCKET HEAD CAP SCREW  M5- . .
“Aug- . . _ . “Aug-
13 11506655 20-Aug-2015 CONZZ24313 0.8x45MM(MAT.STAINLESS 30.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 31-Aug-15
NUT HEX.HEAD (CLASS 10.9) M30-P.2 FOR FIX AXLE . .
“Aug- . . _ . “Aug-
14 11506559 18-Aug-2015 CONZZ28841 HOUSING AT FANTUZZI 100.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 31-Aug-15
BOLT PROPELLER SHAFT M10-1.25x45 MM (CLASS 10.9) . .
_Aug- . . _ . “Aug-
15 11506558 18-Aug-2015 CONZZ29204 FOR FANTUZZI NO.12-17 10.00 Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 31-Aug-15
NYLON INSERT LOCK NUT M10-1.25 (P/N.2900.080.0008) . .
“Aug- . . _ . “Aug-
16 11506560 18-Aug-2015 CONZZ29205 FOR PROPELLER SHAFT OF FANTUZZI 20.00 Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT@ssi-steel.com INCOMPLETE 31-Aug-15
17 11506650 20-Aug-2015 CONZZ02678 LAMP TANGSTEN HALOGEN 220V 500W "PHILIPS" 20.00 Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 31-Aug-15
18 11506468 17-Aug-2015 CONZZ06070 CONDUIT IMC 3/4" 20.00| PIECES MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 31-Aug-15
19 11506626 20-Aug-2015 CONZZ06070 CONDUIT IMC 3/4" 40.00( PIECES MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 31-Aug-15
20 11506468 17-Aug-2015 CONZZ07319 CONDUIT LB 3/4" WITH COVER 5.00 Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 31-Aug-15
21 11506499 17-Aug-2015 CONZZ08915 BALLAST TYPE BTA36I§%‘:’\/22,,?,\HI'I:I'ODE,,FLUORESCENT LAMP 6.00 Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 31-Aug-15
22 11506649 20-Aug-2015 CONZZ09267 COPPER CABLE LUGS TYPE CL 4-6 ( 4 SQMM) 100.00 Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 31-Aug-15
23 11504976 18-Aug-2015 CONZZ24745 CABLE SIZE 10x1.5 SQMM LiYCY WITH SHIELD 200.00| Metres MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 31-Aug-15
24 11506105 17-Aug-2015 CONZZ12302 PAIRS BLADE FOR SHAERING MACHINE CM 500 FEMAS 1.00| PIECES MISS JARIYAPORN JANTHAWEE BSP jarivapornja@ssi-steel.com INCOMPLETE 31-Aug-15
25 11506494 17-Aug-2015 CONZZ05928 SHELL END MILL DIA.50 NO.1013-1012113 35.00| PIECES MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
26 11506464 17-Aug-2015 CONZZ06030 PAINT BRUSH 2" 13.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
27 11506642 20-Aug-2015 CONZZ06030 PAINT BRUSH 2" 10.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15

Page 1 of 4




PR Received dated 10 Aug 2015-16 Aug 2015

Offices Supplies & Consumble Parts

Post Dated 10 Aug 2015

Serial PR No. e Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status RFQ Closing
Date site Dated
28 11506464 17-Aug-2015 CONZZ06148 PAINT BRUSH 3" 88.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
29 11506555 18-Aug-2015 CONZZ06421 CUTOFF WHEELS TYPE i:nf':gcs:pﬁ'ao P SIZE 350x3x25.4 34.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
30 11506675 20-Aug-2015 CONZZ06424 DISTILLED WATER 58.00 Bottle MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
31 11506489 17-Aug-2015 CONZZ06456 SPRAY PAINT GREEN # A 214(NET CONTENT 400 CC.) 26.00 Can MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
32 11506550 18-Aug-2015 CONZZ06471 GRINDING WHEELS TYPnE1n217 "SSPSEIS"A C 60 SIZE 180x2x22 150.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
33 11506675 20-Aug-2015 CONZZ06475 PAINTING BRUSH 1" 13.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
34 11506463 17-Aug-2015 CONZZ11793 TINNER AAA (3.785LT) 100.00( GALLON MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
35 11506464 17-Aug-2015 CONZZ11794 TINNER AAA (12 LT) 100.00 Pail MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
36 11506467 | 17-Aug-2015 | CONzzigso7 | BRONZE PAINT No.222 3.552?;)@6 BEN-TONE(f5nas 15.00| GALLON MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
37 11506466 17-Aug-2015 CONZZ18526 PAINT BRUSH 22 mm (wfu) 72.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
38 11506643 20-Aug-2015 CONZZ28864 CUTTING TIP "HARRIS" GEigESLI)ZE 2NX (CUTS 25-50 MM 12.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
39 11506106 | 17-Aug-2015 | CONZZz31708 "“‘“’”'“Z”ICi%'ﬁ;ﬁﬁ'%i;go( fs/iTcE}gdasgsTM' pIsc 2.00| Pack MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
40 11506590 19-Aug-2015 STA3000358 aaazzava (U.alan) Aansudas (yuded) zuia 8" 50.00 Set MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
41 11506590 19-Aug-2015 STA3000359 nsuflaondomaaug uuubifid 2uie 500x1200x4ua. 50.00| PIECES MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
42 11506590 19-Aug-2015 STA3000396 asauduliuyuaaug-naoan  (uu-ag) 2.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
43 11506443 18-Aug-2015 STA4000001 TEST LAMP (SCREW DRIVERS) 36.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
44 11506545 20-Aug-2015 STA4000001 TEST LAMP (SCREW DRIVERS) 24.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
45 11506545 20-Aug-2015 STA4000015 VERNIER CALIPERS 0-150 MM"Mitutoyo" 10.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
46 11506443 18-Aug-2015 STA4000030 ADJUSTABLE WRENCHES 10" 6.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
47 11506443 18-Aug-2015 STA4000058 ADJUSTABLE WRENCH 6" 6.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
48 11506443 18-Aug-2015 STA4000062 HEXAGONAL KEYS (9 PC) HOLDER SET(SIZE 1.5-10mm) 5.00 Set MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
49 11506545 20-Aug-2015 STA4000062 HEXAGONAL KEYS (9 PC) HOLDER SET(SIZE 1.5-10mm) 5.00 Set MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
50 11506545 20-Aug-2015 STA4000101 SCREWDRIVERS FOR PHILL‘}SPSHEAD #2x100 "SUNFLAG" 12.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
51 11506443 18-Aug-2015 STA4000161 NAIL-CLAWS (u2a9) DIA.20x800 MM. 12.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
52 11506443 18-Aug-2015 STA4000165 SCREW?E?;%%,,’;%’E?SATGEGDG HEAD 12.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
53 11506545 20-Aug-2015 STA4000165 SCREW?E?;%%,,’;%’E?SATGEGDG HEAD 12.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 31-Aug-15
54 11506636 20-Aug-2015 STA1004265 Tunaeulsznaunsauifunafudy 5,000.00 Each MISS PAON SEEBAMRUNGSAS BKK PaonS@ssi-steel.com INCOMPLETE 31-Aug-15

Page 2 of 4




PR Received dated 10 Aug 2015-16 Aug 2015

Offices Supplies & Consumble Parts

Post Dated 10 Aug 2015

Serial PR No. e Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status RFQ Closing
Date site Dated
55 11506602 20-Aug-2015 CONZZz05211 O-RING P/N'04082;6(5‘;\‘2’;(;352?(255052'\4'70 SH.A) FOR 4.00 Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 31-Aug-15
56 11506493 17-Aug-2015 CONZZ19509 FITEJ’\:I(-;O?SZVTIE'II\'/I:;ELES&IE\;EII;SERFQII\?:JZ-;'T\I%A?;-/l‘;lg 10.00 Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 31-Aug-15
57 11506665 | 20-Aug-2015 | CONZZ26356 SEAL CR#7920 TYPE,‘;:;‘_’&RR?)IL’?_'ZOX3GX7 mm. FOR 10.00| Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 31-Aug-15
58 11506664 20-Aug-2015 CONZZ26357 V-RING CR#400204 TYPE#VR1(20mm) FOR PREFLEX ROLL 15.00 Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 31-Aug-15
59 11506665 20-Aug-2015 CONZZ26359 LOCK WASHER # AWO02 FOR PREFLEX WORK ROLL 20.00 Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 31-Aug-15
60 11506492 17-Aug-2015 CONZZ30912 FITTING JIC 37_U;EFM(AOLEO§1\;VII\=/(§I: '::l-\erEULZBZOIW 90- 7/16-20 10.00 Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 31-Aug-15
61 11506432 19-Aug-2015 STA4006532 dudunwi SQ 1/2" 10" MODEL:4753N "KOKEN" 1.00 Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 31-Aug-15
62 11506193 17-Aug-2015 STA4006538 ‘Wane LED ULTRAFIRE 4u WF-502B 4.00 Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 31-Aug-15
63 11506645 20-Aug-2015 CONAZ31437 OIL FILTER ENGINE P/NLI_MA?:’\??’GS FOR MOBILE CRANE 1.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Aug-15
64 11506645 20-Aug-2015 CONAZ31438 FUEL FILTER ENGINiiQARSOQSSfﬁoFOR MOBILE CRANE 4.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Aug-15
65 11506647 | 20-Aug-2015 | CONZZ01954 FI(I}T_IEEFE%E,I:Q'\;,%I,_?FS,IGOI'\;;)Siboszé,iﬁgafsgsé?\,%lof 5.00| Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Aug-15
66 11506646 20-Aug-2015 CONZZ16682 CLAMP HOSE 9/16"-1 1/1}:(1;\‘?[3\‘2??1026 (STAINLESS) FOR 10.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Aug-15
67 11506646 20-Aug-2015 CONZZ16683 CLAMP HOSE 1 3/4"-2 S/FBA"'\‘F_’I_/UNZ?I’OSW (STAINLESS) FOR 10.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Aug-15
68 11506495 17-Aug-2015 CONZZ17524 O-RING IDZ1ZV)\;?—;IIESETBGRRO(E/F’NOZFGEgEggR AXLE AND 1.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Aug-15
69 11506496 17-Aug-2015 CONZZ21671 MOTOR F:INRZSO\I/\I%(I:TI(‘;ONO(S)Y’;?FI:MDISgi:ﬁ?\l‘lr'UQZIFOR BOX 2.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Aug-15
70 11506497 17-Aug-2015 CONZZ28784 RIGHT TAIL LIGHT ziX.I\JI'(IElTZFZIN 2037.714503 FOR 2.00 Set MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Aug-15
71 11506648 20-Aug-2015 CONZZ28867 CUTTING TIP "HARRIS" Géi?zESJfE INX (CUTS 15-25 MM 12.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Aug-15
72 11506498 | 17-Aug-2015 | CONZZ31246 wdauliih 500 Amp (‘ﬁc’l:_“s”‘(;)owa CHIYODA MODEL : 3.00| Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 31-Aug-15
73 11506552 | 18-Aug-2015 | CONZZ19428 Mggjlf\]lg\:g‘:;-(];ga&CARBONATE) 38.00| Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Aug-15
74 11506553 18-Aug-2015 CONZZ30512 dhendreviasin  (VIGSAL) 2una 900 ML. 26.00( Bottle MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Aug-15
75 11506508 20-Aug-2015 STA1000889 370 dhareau 100.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Aug-15
76 11506508 20-Aug-2015 STA1004210 fenaevianih  (VIGSAL) 60.00( Bottle MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Aug-15
77 11506398 17-Aug-2015 STA2000066 ‘Winnedau 50.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Aug-15
78 11506508 20-Aug-2015 STA2000229 \imwﬁmqﬁu 24.00| GALLON MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Aug-15
79 11506508 20-Aug-2015 STA2000231 thenarevasi 24.00| GALLON MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Aug-15
80 11506508 20-Aug-2015 STA2000264 fendanszan 60.00( Bottle MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Aug-15
81 11506508 20-Aug-2015 STA2000540 ndne 24.00 Bottle MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Aug-15

Page 3 of 4




PR Received dated 10 Aug 2015-16 Aug 2015

Offices Supplies & Consumble Parts

Post Dated 10 Aug 2015

Serial PR No. e Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status RFQ Closing
Date site Dated
82 11506508 20-Aug-2015 STA2000541 Wasihareay 50.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Aug-15
83 11506508 20-Aug-2015 STA2000542 dulavi(ienareanu) 60.00( GALLON MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Aug-15
84 11506508 20-Aug-2015 STA2000543 widnwan 25 KG/naag 50.00| Kilograms MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Aug-15
85 11506508 20-Aug-2015 STA3000096 wilseduiudnaaniu 24.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 31-Aug-15
86 11506577 18-Aug-2015 STA1000251 ihnmagviauuse  &mdae 24.00 Each MR. SIRICHAI PROMCHAN BKK SirichaiPr@ssi-steel.com INCOMPLETE 31-Aug-15
87 11506577 18-Aug-2015 STA1000271 asegny lusuwiofa 2uie 10-12x30 . 20.00 Each MR. SIRICHAI PROMCHAN BKK SirichaiPr@ssi-steel.com INCOMPLETE 31-Aug-15
88 11506577 18-Aug-2015 STA1000500 afiasnml  No.600 24.00 Each MR. SIRICHAI PROMCHAN BKK SirichaiPr@ssi-steel.com INCOMPLETE 31-Aug-15
89 11506577 18-Aug-2015 STA1000501 wnlyuuilenaad 12.00 Each MR. SIRICHAI PROMCHAN BKK SirichaiPr@ssi-steel.com INCOMPLETE 31-Aug-15
90 11506577 18-Aug-2015 STA1000545 DOULBLE CLIP No.112 60.00 Each MR. SIRICHAI PROMCHAN BKK SirichaiPr@ssi-steel.com INCOMPLETE 31-Aug-15
91 11506577 18-Aug-2015 STA1000546 DOULBLE CLIP No.109 6.00 Each MR. SIRICHAI PROMCHAN BKK SirichaiPr@ssi-steel.com INCOMPLETE 31-Aug-15
92 11506577 18-Aug-2015 STA1000547 DOULBLE CLIP No.108 5.00 Each MR. SIRICHAI PROMCHAN BKK SirichaiPr@ssi-steel.com INCOMPLETE 31-Aug-15
93 11506577 18-Aug-2015 STA1000548 U9 24.00 Each MR. SIRICHAI PROMCHAN BKK SirichaiPr@ssi-steel.com INCOMPLETE 31-Aug-15
94 11506580 18-Aug-2015 STA2000568 2 qu 10.00 Each MR. SIRICHAI PROMCHAN BKK SirichaiPr@ssi-steel.com INCOMPLETE 31-Aug-15
95 11506580 18-Aug-2015 STA2000569 ula 24.00 Each MR. SIRICHAI PROMCHAN BKK SirichaiPr@ssi-steel.com INCOMPLETE 31-Aug-15
96 11506580 18-Aug-2015 STA2000570 nsTAEAYNRaY 3.00| PACKAGE MR. SIRICHAI PROMCHAN BKK SirichaiPr@ssi-steel.com INCOMPLETE 31-Aug-15
97 11506580 18-Aug-2015 STA2000971 ﬂawﬁlmm( wuugy ) 12.00 Each MR. SIRICHAI PROMCHAN BKK SirichaiPr@ssi-steel.com INCOMPLETE 31-Aug-15
98 11506652 20-Aug-2015 CONZZ06591 BALL VALVE 3" #BRASS PN16(END THREAD) 1.00 Each MR. VARIN SRIYA BSP varinsr@ssi-steel.com INCOMPLETE 31-Aug-15

Page 4 of 4




